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3in.
ft.

lb. $700490
ft. 2,000 lb.1,728

sA L tonCost of steel
ton

       
   

3 3
3

$150 ton
in. 27 . ton 2,000 lb.1,728 ft.

cementWbhLCost of cement
ft

         
    

3 3
3

$18 ton
in. 27 . ton 2,000 lb.1,728 ft.

CAWbhLCost of coarse aggregate
ft

         
    

3 3
3

$10 ton
in. 27 . ton 2,000 lb.1,728 ft.

FAbhL WCost of fine aggregate
ft

         
    

3 33 3
3 3

145lb. 490lb.-145lb.
in. in.ft. ft.1,728 1,728ft. ft.

sA LbhLW        
   


